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DOW30 16336.66 (+1.13%) WTI 32.28 (+8.03%)
NASDAQ 4504.24 (-0.28%) COMEXZ 1141.30 (+1.3%)
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[ BOE S3}d*3]2|] & [ BoE Gov Carney Speaks ]
[ ECB Economic Bulletin] & [ ECB President Draghi Speaks ]
[ FOMC Member Rosengren & Mester Speaks ]
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3y 1.496% (-2.0bp) 3y -4.6bp (-0.5bp)
Sy 1.610% (-3.0bp) 5y -10.3bp (-0.8bp)
10y 1.865% (-5.1bp) 10y -20.5bp (-0.2bp)
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1Y 1.4725% (-2.0bp) 1*2Y -3.00 )

2y 1.4425% (-2.0bp) 2+3Y 0.75 (-0.5bp)
3y 1.4500% (-2.5bp) 2*5Y 6.50 (-1.75bp)
5Y 1.5075% (-3.75bp) 3*5Y 5.75 (-1.25bp)
7Y 1.5750% (-4.0bp) 5+7Y 6.75 (-0.25bp)
10Y 1.6600% (-5.25bp) 5+*10Y 15.25 (-1.5bp)




